Lesson 3     
Inequalities
Problem 1.
Philip doesn’t want to look like a cheapskate, so he plans to spend at least $200 on his girlfriend for Valentine’s Day. He’s already bought her a necklace for $135, and plans to buy some $15 iTunes gift cards as well. What is the smallest number he can buy?
Problem 2. 

Mike is planning to buy lunch for himself and some coworkers. He decides to buy cheeseburgers and fries from the value menu – the burgers are $1 each, and the fries are $0.80. He also needs to pay 5% of the total in sales tax. What is the largest number of items he can buy if he wants to buy the same number of burgers as fries, and he only has $10 to spend

